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At(0,—1), 3’ = 0, so an equation of the tangent lineisy + 1 = 0(z — 0), ory = —1.

@ h(z) = f(z)g(z) = R'(z) = f(z)g'(z) +g(x)f'(z) =
R'(2) = f(2)g'(2) +9(2)f'(2) = (3)(4) + (5)(-2) =12 —-10=2
() F(z) = f(9(=)) = F'(z)=f(9(=))g'(z) = F'(2)=Ff"(9(2))g'(2)=F(5)(4)=11-4=44

Page 1




Final Review 3

4. (a) P(z) = f(z)g(z) = P'(z) = f(z)d'(z) +9(2)f'(z) =

P'(2) = f(2)9'(2) + o(2)f (2)—(1)( )+ @(8) =@+ @) =2-4=-2
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© Cle) = flal=)) = C'(a) = f(s(=))d'(®) =
C'(2) = £(6(2))'(2) = £ (4)9'(2) = (£2) (@) = 3)(2) =6
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